8.19 A large artery in a person’s body can be approximated by a
tube of diameter 9 mm and length 0.35 m. Also assume that blood
has a viscosity of approximately 4 X 107> N - s/m? a specific grav-
ity of 1.0, and that the pressure at the beginning of the artery is equiv-
alent to lmmHgHmeﬂnwwmsmdy(nzsnet)wﬁ:Vw
GZm/s,deteumnethapmssmeatmemdaftheaﬁeryxfﬁ:s ori-
ented (a) verticaily up (flow up) or (b) htmznmal
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b) For horizontal flow 2222 sothat
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" /5.9/%,,1 - 004 = 15.85 kA

Note the gravitational efiects are considerably mare important than
viscovs eftects (343 kPa compared to O.llokR,).
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